वेस्टर्न कोलफ़ील्ड्स लिमिटेड

(भारत सरकार का उपक्रम) (मिनिरत्न कंपनी) महाप्रबंधक (पर्यावरण) का कार्यालय Website:westerncoal.nic.in CIN:U10100MH1975GO1018626

Western Coalfields Ltd.

(A Govt. Of India Enterprise)
(A Miniratna Company)
Office of the General Manager (Environment)
E-mail:wclenv@yahoo.in

निबंधित कार्यालय : 'कोल इस्टेट', सिविल लाइंस, नागपुर - ४००००१.

Regd. Office: 'Coal Estate', Civil Lines, Nagpur - 400001.

Ref: / संदर्भ : वेकोली / मुख्य / पर्याः / 17-AF / 3 22

टेलीफैक्स : +९१(७१२) २५१०१५१

Telefax: +91(712) 2510151

Date / दिनांक :10.09.2014

(By Registered Post with AD)

To

M/s VIDHARBHA ENVIRO PROTECTION LTD.,

Corporate Office:

20, I.T.Park, Parsodi,

Nagpur - 440022.

Sub: Award of Work for Disposal of Hazardous Waste (Used oil filters, Hose pipes & Cotton waste) generated at the mines / units of WCL, for a period of one year at the Common Hazardous Waste, Treatment, Storage & Disposal Facility (CHWTSDF) at Butibori.

Ref: (1) Member Secretary, MPCB, Mumbai, letter no. MPCB/ROHQ/HSMD/TSDF/GK/B-3098 dated. 14.05.2008.

- (2) Order No. BO/ROHQ/Nagpur/TSDF/10/B-51 dated 13.05.2010 of Member Secretary, MPCB HQ, Mumbai
- (3) Your offer VEPL/MKT/13-1/2601 dated 26.11.2013
- (4) Sub Regional Officer-1, MPCB, Nagpur's letter no. MPC/SRN-I/935 dated 22.05.2014.
- (5) This Office letter no. WCL/ENV/HQ/17-AF/245 dated 22.07.2014.

Dear Sir,

With reference to your offer at SI 3 above and endorsement of the same by MPCB at SI 4 above, we are pleased to award the subject work in your favour for a value of Rs. 1466132.95 (Rupees Fourteen Lakhs Sixtysix Thousand one hundred thirty two and paise ninety five only) with following stipulations:-

(1) The Agreement in the enclosed format (Annexure-1) on a non-judicial stamp paper of Rs. 100/- shall be entered between M/s VIDARBHA ENVIRO PROTECTION LIMITED, Nagpur and Area General Manager (AGM) of the respective Area as per the terms and conditions contained therein along with the rates endorsed by MPCB (appended below) and quantities to be disposed Area-wise (Annexure-2).

ho

- (2) The VEPL shall contact the Area Nodal Officer (Env.) of the concerned Areas for execution of agreement and finalization of programme of work including finalization of distance between each HEMM Work Shop/Store and CHWTSDF at Butibori.
- (3) Before commencement of the work, the distance between the HEMM Work Shop/Store and CHWTSDF at Butibori shall be physically verified jointly by VEPL, Area Nodal Officer (Env.) and the Nodal Officer (Env.) of respective project and the same shall be recorded and jointly signed as basic record for transportation charges.
- (4) Your Consent is valid up to 28.02.2015. Before continuing your work beyond 28.02.2015, you will submit Consent from MPCB for the balance period of the contract.
- (5) The date of Commencement of Work shall be reckoned from 10th day of issue of this Work Order.
- (6) The payments shall be made in respect of providing the services by VEPL as per rates duly endorsed by MPCB as under:

Disposal charges for Incineration	Rs. 18800.00 per MT
Transportation Charges	Rs. 4.17 per MT per KM
Unloading Charges	Rs. 100.00 per MT
MIDC Charges (on disposal, unloading & transportation charges)	A CONTRACTOR OF THE PROPERTY O
Service Tax	12.36%

- (7) Loading of Hazardous Waste (Used oil filters,hose pipes & cotton waste) into the trucks arranged by M/s VEPL, shall be the responsibility of Concerned Area/Sub Area/Unit. The actual quantities loaded by WCL shall be suitably recorded jointly by VEPL and the Engineer in charge /Project Nodal Officer (Env.) and duly accepted by the Area Nodal Officer (Env.).
- (8) The payment shall be made at Area level by the respective Area of WCL and the paying authority shall be Area General Manager.
- (9) You are required to obtain license as per the provisions of Contract Labour (Regulations & Abolition) Act 1970, and submit the same to the respective Area General Manager, failing which, no bill will be paid against the work done.
- (10) The Work shall be executed and maintained as per the provisions of agreement and instructions of Engineer in Charge/Nodal Officer (Env.) of the Project.
- (11) The Area Nodal Officer (Environment) of the concerned Area shall be responsible for overall co-ordination and implementation as per schedule and will be assisted by the Nodal Officer (Environment) of the respective Project/Unit.

- (12) This Work Order in duplicate is being forwarded to you for returning the second copy to the undersigned after affixing your signature in token of acceptance of Work award.
- (13) All statutory deductions (Income tax etc.) shall be made as per the rules and directions of Government.

You are requested to contact the Area General Manager of respective Area for taking up the Work immediately under intimation to this office alongwith submission of a Non-judicial Stamp Paper of Rs. 100/- for execution of agreement at the respective Area.

Encl: As above.

Yours faithfully,

General Manager (Environment)

Copy to:

- 1. TS to CMD, WCL.
- 2. TS to D(T)OPN/ D(P)/D(F)/D(T)P&P/CVO, WCL.
- 3. The AGM, Ballarpur/Chandrapur/Wani/Wani North/Majri/Nagpur/Umrer Area & GM, CWS Tadali for information & execution of agreement with M/s VEPL. The format for agreement is enclosed herewith. This award has been approved by D(T) P&P on 04.98.2014.
- 4. GM(F)I/c-1, WCL, Nagpur: This has your vetting vide Note Sheet No. 303 dated 27.05.2014.
- 5. AFM, Ballarpur/Chandrapur/Wani/Wani North/Majri/Nagpur/Umrer Area & CWS, Tadali This is with reference to the BCs accorded by you as below-

Sr. No.	Area	BC amount for 2014-15 (Rs .in Lakh)	BC No. & Date	BC amount for 2015-16 (Rs .in Lakh)	BC No. & Date
1	Ballarpur	1.14	BA/RB/AHQ/Rev/Exp/Env/61/143/1 4-15 dt. 12.08.2014	421	
2	Chandrapur	3.03	RB/CHA/Area/Env/Disposal of Hazardous Waste/147/01/2014-15 dt 16.08.14		
3	Majri	1.06	RB/M/GM/44.50/EMP/222/44 dt. 09.08.2014	0.76	RB/M/GM/44.50/EMP/22 2/44A DT. 09.08.2014
4	Wani	1.26	RB/WA/CGM/1820/14-15 dt 26.08.14	0.90	RB/WA/CGM/11/15-16 dt. 26.08.14
5	Wani North	1.27	REV/WCL/WNA/BC/OCW/ENV/14- 15/968 dt. 10.08.14	0.91	REV/WCL/WNA/BC/OCW /ENV/15-16/3 dt. 10.08.14
6	Nagpur	1.48	AFM/CGM- NGP/BC/REV/ENVT/AHQ/14- 15/122/04 dated 08.09.14		

Sr. No.	Area	BC amount for 2014-15 (Rs .in Lakh)	BC No. & Date	BC amount for 2015-16 (Rs .in Lakh)	BC No. & Date
7	Umrer	0.35	WCL/GM-UA/Env/3/36, Env.AHQ/14-15 dt. 09.08.14	Lakii)	**
8	CWS Tadali	0.16	REV/CWS/TD/Environment exp/05/14-15 dt. 12.08.14		

6. ANO (Env.), Ballarpur/Chandrapur/Wani/Wani North/Majri/Nagpur/Umrer Area & CWS, Tadali – for necessary action.

Forwarded for kind information to:

- 1. Member Secretary, MPCB, Mumbai.
- 2. Regional Officer, MPCB, Nagpur.
- 3. Regional Officer, MPCB, Chandrapur.

Wy/

Western Coalfields Limited

WCL/GM(Env)/HQ/Nagpur 11/4 (1/8)/HQ/Nagpur 4/8/14

GUI 7 Dept./Area/Colliery

3/07/4

Dealing Clerk

Name of Officer

Subject: Approval for Award of work of Disposal of Hazardous Waste (used oil filters , hose pipes & cotton waste) generated at the mines / units of WCL for a period of one year , to M/S Vidarbha Enviro Protection Limited (VEPL) , Nagpur on single offer basis without tender , the Common Hazardous Waste , Treatment , Storage & Disposal facility (CHWTSDF) at Butibori duly authorised by Maharastra Pollution Control Board (MPCB) for Nagpur , Chandrapur & Yavatmal Districts .

Noting upto pre-pages may please be referred. Proposal in question has been examined. After examination, it has been observed that

 subject proposal is for approval for award of work for Disposal of Hazardous Waste (used oil filters, hose pipes & cotton waste) generated at the mines / units of WCL for a period of one year through M/S VEPL, Nagpur on single offer basis without tender.

 It is indicated that M/S VEPL, Nagpur is authorised by Maharastra Pollution Control Board (MPCB) for Nagpur, Chandrapur & Yavatmal District as sole operator of

CHWTSDF.

3. It is recorded that esrlier subject work was awarded to M/S VEPL, Nagpur on single offer basis after obtaining competent approval vide Work Order dated 24.05.2012 for a quantity of 69.60Te amounting to Rs.1257356.33 for a period of one year & same was informed to WCL Board to comply the CVC guidelines. The said work order has expired.

4. Subject proposal consists disposal of 61.94Te hazardous waste which includes existing stock

as 27.45Te and 34.49Te expected quantity to be generated in coming one year.

 Proposed recommended amount is Rs.1466132.95 whichh is based on revised rates for collection, transportation & disposal of hazardous wastes w.e.f 1st Dec'2013 submitted by M/S VEPL, Nagpur vide letter dated 26.11.2013.

6. It is indicated that letter dated 26.11.2013 of M/S VEPL was forwarded to Regional Officer , MPCB , Nagpur for their perusal and the Sub-Officer , MPCB , Nagpur-1 vide letter dated 2.05.2014 have endorsed the revised rates of M/S VEPL w.e.f 01.12.2013 and directed WCL to treat and dispose hazardous waste through M/S VEPL , Butibori , Nagpur .

7. Proposal is examined by GM(Envt) and they have recommended for award the subject work to M/S VEPL, Nagpur on single offer basis without tender for a total amount of Rs.1466132.95 for a period of 1 year and indicated that same will be posted on WCL Website in public domain and shall be brought to the notice of WCL Board for information in terms of CVC guidelines dated 11.12.2012 & 19.05.2010 respectively.

 It has been observed that Consent To Operate of CHWTSDF by M/S VEPL, Nagpur granted by MPCB is valid for a period upto 28.02,2015 and GM(Envt) vide letter dated 22.07,2014 has requested M/S VEPL, Nagpur to get the Consent to Operate extended

beyond 28.02.2015.

In view of the above, proposal as recommended by GM(Envt) for award the subject work to M/S VEPL, Nagpur on single offer basis without tender may be considered for approval of competent authority subject to budget certification. Since recommended amount is Rs.1466132.95 which is based on existing stock and expected quantity generated & disposed off in coming 1 year, proposal may be considered for administrative approval of Director(T)PP. However, it is to be ensured that award of subject proposal is posted in website and brought to the notice of WCL Board to comply the CVC guidelines and MPCB has extended Consent To Operate of CHWTSDF by M/S VEPL, Nagpur for the contract period beyond 28.02.2015.

Submitted please

Director(T)PF

Chief Manager Finance (F) (FC)

31.07.2014

Des Silver (1 10 V) 5/1

DETAILED ESTIMATE FOR DISPOSAL OF (H W) OIL FILTERS, HOSE PIPES & COTTON WASTES

SI. no.	Name of Area/Mine	AST MINES OF WCL IN MAHARA Type of Hazardous Waste to be desposed at CHWTSDF			Total Quantity Te	al Rote of ty Te treatment &	Amount for (reatment	Transport	and from	Amount for Transport in Rs.	Unloading Charges @ Rs 100.00/Te	Total Amount in Rs	MIDC Charges @ 5%	Services Tax @ 12.36%	Grand total including MIDC charges and
		Oil Filters	Hose Pipes	Cotton Waste		Limposai Kalife	Rs.	(rear one)							Service Tax
		1	2	- 3	4=(1+2+3)	5	6-4*5	. 7	8	9=4*7*8*7	10=4*100/-	11:6+9+10	12=11*0.05	13=(11+12)*0.1236	11+12+13
1.	BALLARPUR							4.477	175.00	4144.98	284	57820.98	2891.049	7504,006784	68216.036
1	Gouri OCM L& II (A)	1.26	0.99	0.59	2.84	18800	53392	4.17	175.00		148	30181.4328	1509.07164	3916.946349	35607.451
2	Pount OCM	0.58	0.73	0.07	1.48	18800	27824	4.17	179.00	2209.433	148	17024.9184	851.24592	2209.49391	20085.658
3.	Ballarpur OCM	0.46	0.28	0.10	0.84	18800	15792	4.17	164.00	1148.918	294	59783.3712	2989.16856	7758.685914	70531.226
4	Sasti OC	1.58	1.13	0.23	2.94	18800	55272	4.17	172.00	4217.371		164810.7024		21389.13296	194440.37
	TOTAL: BALLARPUR ARI	3.98	3.03	0.99	8.10	18800	152280	4,17		11720.7	810	104810.7024	0240.33312	24303743230	
II.	UMRER AREA							2.00		EE # 2457	117	22664.3157	1133.21579	2941.374892	26738.906
5	Umrer OC	0.56	0.54	0.07	1.17	18800	21996	4 17	56.5	551.3157	141	27334.57302	1366.72865	3547.480887	32248.783
6	MKD HOCP	0.68	0.66	0.07	1.41	18800	26508	4.17	58.3	685.573	252	49998.88872	-	6488.855778	58987.689
	TOTAL:UMKER AREA	1.24	1.20	0.14	2.58	18800	4850A	6.17	1	1236.889	436	49990,00072	2433,31444	0.100.000770	
111.	MAJRI AREA								115.00	0	189	37533.699	1876.68495	4871.123456	44281.507
7	New majrl OC	0.91	0.84	0.14	1,89	18800	35532	4.17	115.00	1812.699	63	12511.233		1623.707819	14760.502
8	New majri UG	0.19	0.44	0.00	0.63	18800	11846	4.17	115.00	604.233		58263.156	2913.1578	7561.392386	68737.706
g	Navin kunada or	0.91	2.03	0.00	2.94	18800	55272	4.17	1.10.00	2697.156	2 15 5 11	24885.425		3229.760237	29360.506
10	Telwasa DC	0.50	0.68	0.07	1.25	18800	23500	4.17	121.00	1261.425		20307 3228			23958.173
11	Dhorwasa OC	0.86	0.59	0.07	1.02	18800	19176	4.17	121 00	1029.323		153501.8358			181098.4
	TOTAL: MAJRI AREA	2.87	4.58	0.28	7,73	18800	145314	417	-	7404.836	723	155501.6350	1013.03173	15521.40025	
IV.	WANI AREA								146.60	0	186	37403.298	1870.1649	4854.200014	44127.663
12	Nalgaon OC	0.01	0.59	0.35	1.86	18800	34968	4.17	145.00	2249.298		28756.299			33926.106
13	willal (5) OC	1.02	0.34	0.07	1.43	18800	26884	4.17	145.00	1729,299		32818.9416		4259.242241	38719.131
10	Miljai OC	1.25	0.34	0.04	1.63	18800	30544	4.17	148.00	2011.942				5023.255959	45664.485
15	Mungoli OC	1.13	0.57	0.22	1.92	18800	36096	4.17	151.00	2417.933		38705.9328	2269.99485	5891.998633	53561.89
16	Ghugus OC	1,36	0.68	0.22	2,26	18800	42488	4.17	142.50	2685.897		45399.897			215999.28
27.7	TOTAL; WANI AREA	5.37	2.52	0.91	9.10	18500	171080	4.17		11094.37	910	183084.3684	9154.21842	23/00,08955	213939.20

DETAILED ESTIMATE FOR DISPOSAL OF (H W) OIL FILTERS, HOSE PIPES & COTTON WASTES FROM OPENCAST MINES OF WCL IN MAHARASHTRA STATE TO CHWTSDF, BUTIBORI, NAGPUR Type of Hazardous Waste to be desposed at | Total | Rate of | Amount for | Rate for | Distance to

Grand total

including MIDC

charges and

Service Tax

11+12+13

21043.157

27193.848

3229.1437

51466.149

235597.83

181880.79

64082.851

37546.974

519108.45

54576.421

61089.809

39894.947

23409,377

37471.721

217560.13

27472.499

27472.499

1466132.95

MIDC Charges

面 5%

12=11*0.05

891.82548

1152.49656

136.85364

2181.17568

9984.8205

7708.25034

2715.8814

1591.27014

2312.99145

2589.03393

1690,77909

992.10771

1588.08087

9220.36842

1154.306

1164.306

Total Amount in

11=5+9+10

17836,5096

23049,9312

2737.0728

43623.5136

199696.41

54317.628

31825.4028

46259.829

51780.6786

33815 5818

19842.1542

31761.6174

23286.12

23286.12

1242717.245 62135.8622

184407.3684

440004.4476 22000.2224

154165.0068

Unloading

Charges @ Rs

100 00/Te

10-4*100/-

91

118

14

223

991

766

270

158

2185

231

259

169

99

159

917

118

118

6194

Amount for

Transport in

Rs

9:4*7*8*2

537.5096

747.9312

91 0728

1476.514

12397.41

9391.007

3287 628

1963.403

27039.45

2500.829

2829.679

1874.582

1131.154

1710.617

11094.37

984.12

984.12

72051.24

135.00

131 00

133.00

137.00

129.00

100.00

Services Charges

@ 12.36%

19=(11+12)*0.1236

2314.822216

2991.420071

355.217308

5661.459595

25916.60009

20007.53458

7049.341762

4130.300775

57103.77721

6003.600608

6720.096469

4388.586206

2575.114772

4122.022706

23932.38827

3022.072654

3022.072654

161279.844

		Type of Haza	CHWTSDF	he desposed at	Quantity Te.	Rate of treatment & Disposal Rs/te	Amount for freatment and disposal Rs.	Transport (Rs/Te/km)	and from Buttibori	7
SI. no.	. Name of Area/Mine	Oil Filters	Hose Pipes	Cotton Waste						
		1	2	3	4=[1+2+3]	5	6:4*5	7	8	L
V.	NAGPUR AREA									L
17	Gondegaon OC	0.57	0.14	0.20	0.91	18800	17103	4.17	84.00	L
18	Kamptee OC	0.68	0.20	0.30	1.18	18800	22184	4.17	76.00	
19	Inder OC	0.10	0.02	0.02	0.14	18800	2632	4.17	78.00	
	TOTAL:NAGPUR AREA	1.35	0.36	0.52	2.23	18800	41924	4.17		
VI.	CHANDRAPUR AREA									
20	Padmapur OC	5.40	4.05	0.46	9.91	18800	186308	4.17	150.00	
21	Durgapur OC	4.50	2.70	0.45	7.66	18800	144008	4.17	147.00	
27	Bhatadi OC	2.70	0.00	0.00	2.70	18800	50760	4.17	146.00	
23	HLOCP	0.68	0.68	0.22	1.58	18800	29704	4.17	149.00	

1.14

0.05

0.22

0.22

0.09

0.14

0.72

0.05

0.05

4.75

7.43

0.68

0.57

0.46

0:45

0.95

3.11

0.90

0.90

23.13

13.28

1.58

1.80

11.01

0.55

0.50

5.34

0.23

0.23

33.56

21.85

2.31

2.59

1.69

0.99

1.59

9.17

1/18

1.18

61.94

18800

18800

18800

18800

19800

18800

18800

18800

18800

410780

43428

48692

31772

18612

29892

172396

22184

22184

1164472

4.17

4.17

8.17

4.17

4.17

4.17

4.17

4.17

4.17

SI.

VII.

24

27

28

VIII.

DIAL:CHANDRAPUR A

WANI NORTH AREA

Pimpalgaon OC

Kolaroimpari OC

TOTAL:WANI NORTH AL

TOTAL: CWS TADALI

Ukni OC

tunad OC

Ghorisa OC

CWS Tadali

GRAND TOTAL